

# Crystal Seal®

For food packaging  
with exceptional sealing,  
the solution is crystal-clear.



**PLACON**®  
WHEN PACKAGING MATTERS

6096 McKee Road  
Madison, WI 53719

(800) 541-1535  
[www.placon.com](http://www.placon.com)

e-mail: [package@placon.com](mailto:package@placon.com)

# Crystal Seal®



CS08



CS08DL



CS12



CS12DL



CS16



CS16DL



CS16S



CS24



CS24DL



CS32



CS32DL



CS48



CS64

## Watch your sales and profits increase through crystal-clear Crystal Seal®

In food sales, it's no secret that seeing is believing. At Placon, we know food items that are fresh must look fresh—no exceptions. That's why deli and bakery items always look their best with Crystal Seal® containers. With a variety of features that not only preserve freshness, you'll see how Crystal Seal® containers attract the eye, showcase the contents, and increase sales.

### Features of Crystal Seal®

- Constructed from EcoStar® PETE, recycled softdrink and water bottles, the Crystal Seal® line of containers will not stress crack from fatty and oily foods.
- Recessed flat lids keep the containers upright and stable when stacked.
- A leak-resistant seal locks in food and liquids, preserves freshness, and will not pop open unexpectedly.
- A perforated hinge (on 24, 32, 48, and 64 fl. oz. sizes) allows large containers to double as serving dishes that are easy to use, attractive, and space-saving. The lid can be resealed after use to keep food fresh.
- Lids can be custom embossed to provide strong brand recognition.

### Benefits of Crystal Seal®

- Maximizes shelf space with strong and secure displays, and closes the sale with eye-popping clarity.
- Compatible with all food types.
- Helps extend shelf life to ensure fresher products, reduce spoilage, and most importantly, satisfy your customers.



**ecostar**<sup>®</sup>  
recycle | re plastic | results

Crystal Seal<sup>®</sup> are just one product in Placon's food packaging line containing EcoStar<sup>®</sup> food-grade recycled PETE with up to 100% post-consumer recycled content.



Packaging made from recycled beverage bottles.



Removing the perforated hinged lid makes serving a snap. Plus, the lid is resealable which makes this container as practical as it is pleasing.



Small tabs give Crystal Seal<sup>®</sup> a streamlined look and make opening containers easier and more user-friendly.

## SIZES AVAILABLE

Stock Number	Description	Dimensions LxWxH	Units Per Cases/Sleeve	Case Wt./Case Cube	Pallet TI/HI Half/Full	Cases/Pallet Half/Full	Eaches Pallet Half/Full
CS08	8 fl. oz. flat lid	5.00" x 5.50" x 1.43"	200/ 2 x 100	10 lbs. 1.61	6 x 4/6 x 8	24/48	4800/9600
CS08DL	8 fl. oz. dome lid	5.00" x 5.50" x 1.80"	200/ 2 x 100	10 lbs. 1.61	6 x 4/6 x 8	24/48	4800/9600
CS12	12 fl. oz. flat lid	5.00" x 5.50" x 1.90"	200/ 2 x 100	10 lbs. 1.61	6 x 4/6 x 8	24/48	4800/9600
CS12DL	12 fl. oz. dome lid	5.00" x 5.50" x 2.28"	200/ 2 x 100	10 lbs. 1.61	6 x 4/6 x 8	24/48	4800/9600
CS16	16 fl. oz. flat lid	5.00" x 5.50" x 2.38"	200/ 2 x 100	12 lbs. 1.61	6 x 4/6 x 8	24/48	4800/9600
CS16DL	16 fl. oz. dome lid	5.00" x 5.50" x 2.75"	200/ 2 x 100	12 lbs. 1.61	6 x 4/6 x 8	24/48	4800/9600
CS16S	16 fl. oz. shallow flat lid	6.31" x 7.25" x 1.31"	200/ 2 x 100	10 lbs. 2.48	6 x 3/6 x 6	18/36	3600/7200
CS16SDL	16 fl. oz. shallow dome lid (not shown)	6.31" x 7.25" x 1.69"	200/ 2 x 100	10 lbs. 2.48	6 x 3/6 x 6	18/36	3600/7200
CS24	24 fl. oz. flat lid (with removable lid)	6.31" x 7.25" x 1.81"	200/ 2 x 100	15 lbs. 2.48	6 x 3/6 x 6	18/36	3600/7200
CS24DL	24 fl. oz. dome lid (with removable lid)	6.31" x 7.25" x 2.19"	200/ 2 x 100	15 lbs. 2.48	6 x 3/6 x 6	18/36	3600/7200
CS32	32 fl. oz. flat lid (with removable lid)	6.31" x 7.25" x 2.38"	200/ 2 x 100	15 lbs. 2.48	6 x 3/6 x 6	18/36	3600/7200
CS32DL	32 fl. oz. dome lid (with removable lid)	6.31" x 7.25" x 2.76"	200/ 2 x 100	15 lbs. 2.48	6 x 3/6 x 6	18/36	3600/7200
CS48	48 fl. oz. flat lid (with removable lid)	8.10" x 7.88" x 2.50"	200/ 2 x 100	22 lbs. 3.63	4 x 3/4 x 5	12/20	2400/4000
CS64	64 fl. oz. flat lid (with removable lid)	8.10" x 7.88" x 3.19"	200/ 2 x 100	25 lbs. 3.63	4 x 3/4 x 5	12/20	2400/4000



HomeFresh® Deli



Fresh 'n Clear™ Trays and Lids



Fresh 'n Clear™  
Scround Bowls and Lids



HomeFresh® Rotisserie  
Chicken Container



HomeFresh® Pineapple Container



Dimensions™ Bakery Containers

Whether you need packaging for food, medical, or retail environments, visit [www.placon.com](http://www.placon.com) or call 800-541-1535 to request additional information about any of our product lines.

**PLACON®**  
WHEN PACKAGING MATTERS